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CHEMISTRY

BOOKS - MS CHOUHAN

ALCOHOL,ETHERS AND EPOXIDES

1. The following transfonnation involves a carbocation rearrangement.
The carbocation is generated by protonation of the hydroxyl group,

followed by the loss of water. Which bond has to migrate in the


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_xqbWzTwTSMek

carbocation to yield the product indicated (after the deprotonation)

H
>
B H (c)
o N
(a)
A.a
B.b
C.c
D.d
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_xqbWzTwTSMek

2. Identify the major product.

LI Product

r.-Ill
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&
@
ke


https://dl.doubtnut.com/l/_eY3aC3Jua6z8

Answer:

o Watch Video Solution

3. Complete the following
Hy, -~ OH
i -
Et T 5 ) (majon)
N
[
H

Hy - 0-C - CH,
Cﬁ.

H

reaction


https://dl.doubtnut.com/l/_eY3aC3Jua6z8
https://dl.doubtnut.com/l/_w9ioDyWXXqmO
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Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_w9ioDyWXXqmO

4. Predict the product when given compound reacts with Li AlHy.

1 ]

“SocH,

H”
(A)

™ ; ,E ~0-CH,
A.
¢ E ~0-CH,
y L)
B. H

OH

“(;%
C. H


https://dl.doubtnut.com/l/_NPRwhkdYv3jD

Answer: C

o Watch Video Solution

5. Predict the product when given compound (A, in the above question 4)

reacts with NaBH,

QA ﬁ -0 - CHy
A
0
H ¢ o- CH,
B. H
OH
OH


https://dl.doubtnut.com/l/_NPRwhkdYv3jD
https://dl.doubtnut.com/l/_Q7CAVEJsmUpP

Answer: b

o Watch Video Solution

6.

The labelled — O™ will be in :

A. H,O

B. Methyl benzoate

C.Both (a) and (b)

D. Benzoic acid

Answer:

G-0-H et
18 _—
©/ tCHy -0 H Clarakynt

©r

Methyl benzowste

+ H,0

° Watch Video Solution



https://dl.doubtnut.com/l/_Q7CAVEJsmUpP
https://dl.doubtnut.com/l/_imOX0aDZVXhx
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COH CH, —- OH

7. | + |
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D.

|
H-0-C-C-0-CH, -CH, -OH

H+
T (A) Product (A) is :


https://dl.doubtnut.com/l/_imOX0aDZVXhx
https://dl.doubtnut.com/l/_XXyIOTWdvymL

Answer:

° Watch Video Solution

8. Which is oxidized most easily?

A.CH; — CHOH — CHj

O
B.

C.CHs; —CH, — O —-CH, — CHs

Hy
OH

D.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_XXyIOTWdvymL
https://dl.doubtnut.com/l/_TBzVLtLBdwKX

&LDEH —=5% ., (P); Product (P) is:
(P)

Product (P) is :
A. G
B. &
é’w

Answer:

| o Watch Video Solution


https://dl.doubtnut.com/l/_qgV9AS0VLr2J

10. Which of the following react with HBr at faster rate?

Answer:

° Watch Video Solution

f i ™
11.:‘*‘3":"<:>_‘:"“'IH —'CHE‘CH_O_CHPOH

Above conversion can be done by :


https://dl.doubtnut.com/l/_qgV9AS0VLr2J
https://dl.doubtnut.com/l/_pFtxhMFp4UML
https://dl.doubtnut.com/l/_olm9JYr69Rgl

A. NaBH,

B. LiAlH,

C. PCC

D. KMnQOy

Answer:

° Watch Video Solution

CO.H

GO,

12.

product (A) is :

4 CH JOH

H, 80, A

v (A);



https://dl.doubtnut.com/l/_olm9JYr69Rgl
https://dl.doubtnut.com/l/_axQZpk2xy7zw



https://dl.doubtnut.com/l/_axQZpk2xy7zw

E--:;H:4

- CH,4

Answer:

° Watch Video Solution

OH Ph
4 Ph L (P) :
2

P, yhoid

13. Unknown

(P) of the reaction is :



https://dl.doubtnut.com/l/_axQZpk2xy7zw
https://dl.doubtnut.com/l/_jWZouegszVCD

B.
0
Ph
3 Ph
4 2
C.
| _¢-Ph
4 ~~Ph
2
D.
Answer:

° Watch Video Solution

Predict the major product ofthe given reaction.

@(%b\ —H L {4): Product (A) is -


https://dl.doubtnut.com/l/_jWZouegszVCD
https://dl.doubtnut.com/l/_Lc60arGzuTZG
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Answer:

° Watch Video Solution

Identify major

Dt{j_.m

product



https://dl.doubtnut.com/l/_Lc60arGzuTZG
https://dl.doubtnut.com/l/_yetSnMK1KFjK

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_yetSnMK1KFjK

L]
ﬂ I
—H (A} Produdct (A) is
16.

Product (A) is :


https://dl.doubtnut.com/l/_TIbQ2rRSf6bk

Answer:

° Watch Video Solution

17. CO,CH, (A) Major

product (A) is :

O oa,

CH,OH


https://dl.doubtnut.com/l/_TIbQ2rRSf6bk
https://dl.doubtnut.com/l/_UjlDKhddbKL0

OH

OCH,

CH,OH

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_UjlDKhddbKL0

18. Complete the following reaction

OH

i+ el CHI, + ,:A}:Cumpq:und ':-"ﬂ is
OH ||n::|:h-m
{Resorcinol}
]
2 &
ONa
| _CO;Na
A CHj
0 O

I I
B.H—O—C — (CH,), — C — OH
0]
I
C.CH; — CH, — CH, — CH, — C — OH
(0]

|
D.CH; — (CH,); — C — ONa

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Z9yTRV83uONE

19. Complete the following reaction

H

M9, (4), Product (A) is :

{3 wlenhal)

A. No reaction

H


https://dl.doubtnut.com/l/_BqV8BW31iDLb

Answer:

o Watch Video Solution

20. Complete the following reaction

co,H

_E&ELE'.FH.'._.[.Q] “;":HHB] + CHI,l; Compound (§) is
12} H .

- ]

0O MNa


https://dl.doubtnut.com/l/_BqV8BW31iDLb
https://dl.doubtnut.com/l/_E0UvL8sd634I

CO,Na

'Eﬂ:”ﬂ

Answer:

o Watch Video Solution

£

"o B Major

21. 2 - Major

product obtained in the reaction is :


https://dl.doubtnut.com/l/_E0UvL8sd634I
https://dl.doubtnut.com/l/_Sp8T1rff4lDX

A.
GJR
B.
OH
o%:
A
Br
i
D.
Answer:

° Watch Video Solution

22, Consider the following

- CH,OH
CH,OH /@f
m @/ a

F 4

CH,0H CH,0H
w, O
(1my GH, O/©/ v

Br

alchohols,


https://dl.doubtnut.com/l/_Sp8T1rff4lDX
https://dl.doubtnut.com/l/_Za7Oamn2Ox7c

The order of decreasing reactivities of these alcohols towards

nucleophilic substitution with HBr is:

AIIT >1>1V > 11

B.III >1>1I>1V

CI>III>1V >1II

D.I > III > 1II > 1V

Answer:

° Watch Video Solution

0 D..-"‘“"'-..
" MabH, P)

3.

Sum of number of alcoholic groups in product (P) and (Q) is

2



https://dl.doubtnut.com/l/_Za7Oamn2Ox7c
https://dl.doubtnut.com/l/_AgjAg1A3IN5u

A2

B.3

C.4

D.5

Answer:

° Watch Video Solution

24. In presence of dil. HCl, compound A is converted to a constitutional

isomer (B), compound B is:

O

1
HO NH - t:—-<§>—mm2

NH-@_@_WZ

A


https://dl.doubtnut.com/l/_AgjAg1A3IN5u
https://dl.doubtnut.com/l/_aa8X4oU2i0Af

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_aa8X4oU2i0Af

25. Complete the following reaction

CH, |

CH OH » (A} (ten carbon atom)
! dichioro methane

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_CMGxjkuyHaNl
https://dl.doubtnut.com/l/_6OFOjVPfMONz

0 CO, Et O}l CH,OH

LiAlI,

26. Product of
the reaction is :

A. Racemic

B. Diastereomer

C. Meso

D. Optically pure

Answer:

o Watch Video Solution

OH

(B 35eq) o 4y
COM i A

27. Chemist
added extra 0.5 mole of Et-Li in above reaction to obtain product (A),

which is ?


https://dl.doubtnut.com/l/_6OFOjVPfMONz
https://dl.doubtnut.com/l/_JOoovXUPsWXJ

Ex

Answer:

° Watch Video Solution

1,0H tﬁ‘
+Ph-C-0-H

HO
28. Major

product of above esterification reaction is:


https://dl.doubtnut.com/l/_JOoovXUPsWXJ
https://dl.doubtnut.com/l/_5kx8oHL9KYPY

Answer:

o Watch Video Solution

29, Complete the following reaction
"¢ |abel
OTs ) A OCOR @ 5 DCOR
O Mall®
A. SNI

B. SN2


https://dl.doubtnut.com/l/_5kx8oHL9KYPY
https://dl.doubtnut.com/l/_B2xxnYrgM9Gw

C.SN — NGP

D.SN — Ar

Answer:

° Watch Video Solution

HO
Ay

1

NH,
30.

(A) of reaction is :
X

NHY

-

(Al;

Product


https://dl.doubtnut.com/l/_B2xxnYrgM9Gw
https://dl.doubtnut.com/l/_o9Q8vXLEUNug

aOaW

NH,
B.
H
Y
C.
0
NHI
D.
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_o9Q8vXLEUNug

31. Complete the following reaction

o @mcﬁ (PCC) CH,C,
H

*»  Product of the reaction is

CHy -G - OH
CH;

H

CHO

OH


https://dl.doubtnut.com/l/_o9Q8vXLEUNug
https://dl.doubtnut.com/l/_CfpQRGoCp5Bn

CO.H

Q2.
2

° Watch Video Solution

C.
D.

Answer:

32. Which is the best reagent to convert isopropyl alcohol 'to isopropyl

bromide?

CHs CH;
| ? \

CH3; - CH—-OH—CH3; - CH—Br

A. HBr


https://dl.doubtnut.com/l/_CfpQRGoCp5Bn
https://dl.doubtnut.com/l/_eLA4gTNyK3K8

B. SOB’I"2

C. B’I"2

D.CH3MgBr

Answer:

° Watch Video Solution

NH,

Ph OH
HNG,
—n_i. ‘4

H CH,
Ph

33.
Major product obtained in the above reaction is :
WH CH4

ph—c:ﬁ(
A Pl


https://dl.doubtnut.com/l/_eLA4gTNyK3K8
https://dl.doubtnut.com/l/_e3Po5vDNmhfk

C. Racemic

D. Diastereomers

Answer:

o Watch Video Solution

(¥ HIO, I§“1_J_I._ll.lt_liI_[,ﬁ;_:rm.m.n]
C, OH A g 8
-
34,
Total number of stereoisomers of product (B) will be:
A.2
B.3

C.4

D.5


https://dl.doubtnut.com/l/_e3Po5vDNmhfk
https://dl.doubtnut.com/l/_fAhmcv6e5o2M

Answer:

° Watch Video Solution

35. Complete

0
as-d-a,

L e
2H

"to—i—mj

the following

Major product of the reaction Is :

reaction



https://dl.doubtnut.com/l/_fAhmcv6e5o2M
https://dl.doubtnut.com/l/_AVSchwVCFpTX

<

‘W

Answer:

° Watch Video Solution

36. Complete the following
O
¢
S - C-CH,
I_mli
—
H‘I[m _ {F:-il - mj
0O

"o

reaction


https://dl.doubtnut.com/l/_AVSchwVCFpTX
https://dl.doubtnut.com/l/_jYlOHZH6ogN2

<
C

\ W}

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_jYlOHZH6ogN2

O Gl 0OH

CH MgBr/H* KMnO, (cold dil.)
37. (1 (2)

For the above conversion the correct order of reagents used is :

Al—2—-3—4
B.1 -4 — 3rar2
cCl—4—-2—3

D2 >3 —+>4—>1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_wSsmyaKHuoLl

CHy Cl,

CH
C - Cily -~ CHy LA CH - CH - ¢l
cHy”” | 0 G gt-cy 9, o S 3
OH cH, \D/ 3 H
38 13° alcohol) {2 aleohol)

Find missing reagents .

Az = LiAlH,,y = NaBH,

Answer:

o Watch Video Solution

39. In solvolysis of 1,2-dimethyl propyl p-toluene sulfonate in acetic acid at

75° C, how many (alkene + substitution) products will be formed ?

A. SNQ, E2

B. SN2, El


https://dl.doubtnut.com/l/_P98eNO9RRlrJ
https://dl.doubtnut.com/l/_xGVdkdRuJjx7

C. Sy, Es

D. SNl, E1

Answer:

° Watch Video Solution

.'l'..‘l.lf':[]

(B)

40.

x =moles of anhydride consumed is

Al

B.2


https://dl.doubtnut.com/l/_xGVdkdRuJjx7
https://dl.doubtnut.com/l/_pF0tWPxMY4iE

C.3

D.4

Answer:

° Watch Video Solution

41. Identify product when (R) - and (S) - 2 - butanol reacts with (R,R)

tartaric acid in acidic medium.

A. Racemic

B. Diastereomer

C. Meso

D. Pure enantiomer

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_pF0tWPxMY4iE
https://dl.doubtnut.com/l/_DPcUCUAVE88d
https://dl.doubtnut.com/l/_UJv9mXaiRsLu

42. An alcohol of formula CqH;5,0 reacts with NayCry0O; to form a

compound having formula Cy H1(O. The original alcohol might be

@_ CH, - CiIy - CH, - OH

A.
H
III — CH4 - CHy
B.
TH“
O
C CHyq
CHy

@J‘.H - CH,0H
D.

Answer:

o Watch Video Solution

43. An optically active alcohol of formula CyH30, produced the

following compound when refluxed with KMnO,


https://dl.doubtnut.com/l/_UJv9mXaiRsLu
https://dl.doubtnut.com/l/_Su3urSvAuvtF

'll.".l 0
o LSy on
The original compound showed these properties also ;

CgH|!ﬂz 1—'H.‘—‘ IIJ libverated
w \"u—h'l—h no rapid reaction

—2 5 g0,

What is structure of (A) ?
Chlg OH

A ~OH

OH
oH

CH,


https://dl.doubtnut.com/l/_Su3urSvAuvtF

IH

H,

D. both (a) and (b)

Answer:

° Watch Video Solution

44. Which are not cleaved by HIO4 ?
| : glycerol

Il: glycol

l11': 1,3 - propanediol

IV : methoxy - 2- propanol

A. LILILIV

B. LIl


https://dl.doubtnut.com/l/_Su3urSvAuvtF
https://dl.doubtnut.com/l/_m01ekQ9MhVGO

C. 1L

D. llLIV

Answer:

° Watch Video Solution

45. Which of the following reactions require an oxidising agent?

A CH3 — CH =CHy, — CHg — CHy — CH3

B. CH3 — CHgOH — CH3CHO

C. CH3 — CHQCZ — CH?, — CHg

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_m01ekQ9MhVGO
https://dl.doubtnut.com/l/_Ma7XgULedT1K

46. What is the major product of the following reaction ?

NahH,
3 product

CO,H

(l

CO,H

OH
‘*1" Yo,

8]
i W CH,0H
&
CO,CH,
D.

oS


https://dl.doubtnut.com/l/_26wiU3TlPLDa

Answer:

° Watch Video Solution

47. Which of the esters shown, after reduction with Li AlH, and aqueous

workup, will yield two molecules of only a single alcohol ?

A. CH3CH,CO,CH,CH;

B. Cs Hs COyC HyC Hy

C.CsH5;CO5CxHj5

D. None of these

Answer:

° Watch Video Solution

48. For the following reaction, select the statement that best describes

the change.


https://dl.doubtnut.com/l/_26wiU3TlPLDa
https://dl.doubtnut.com/l/_oDYYGK8TM27z
https://dl.doubtnut.com/l/_09UeR7yWUbxW

RCH,0OH + PCC[CsH;NH * CICrO; | —

A. The alcohol is oxidized to an acid, and the Cr(Vl) is reduced
B. The alcohol is oxidized to an aldehyde, and the Cr(VI) is reduced
C.The alcohol is reduced to an aldehyde, and the CrClll) is oxidized

D. The alcohol is oxidized to a ketone, and the Cr(Vl) is reduced

Answer:

o Watch Video Solution

49. What is the product of the following reaction ?

cH, CH, CH,
HaC /‘3"3 Os0{ca ). (Clty);0000H | H OH H ot Ho H
“’,-C — C\Ei (CH, ), COILIO™ H oy HO H H OH
CH, CHy CHy
1 2 3

A.Only1

B. 1:1 mixture of 2 and 3

C.Only 2


https://dl.doubtnut.com/l/_09UeR7yWUbxW
https://dl.doubtnut.com/l/_rVWdekkaFWle

D. 1:1: 1 mixture of 1,2, and 3

Answer:

o Watch Video Solution

50. An organic compound B is formed by the reaction of ethylmagnesium
iodide (CH3CH,MglI) with a substance A, followed bytreatment with
dilute aqueous acid. Compound B does not react with PCC in

dichloromethane. IdentifyA ?

O
|
ACH; —C — H
(0]

|
B.CH,CH,CCHj,

(
/N
H,C - G,
D.

Answer:


https://dl.doubtnut.com/l/_rVWdekkaFWle
https://dl.doubtnut.com/l/_R0HPEKEuPQe2

° Watch Video Solution

51. Which ofthe following reagents would carry out the following

transformation? (D = 2H)
£ EI[
[
Q_Hmj 7 Q—E:HS

A.NaBD,s in CH3OH
B. LiAlHy4, thenD>O
C.NaBD4 in CH30D

D. Li AlDy, thenD>O

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_R0HPEKEuPQe2
https://dl.doubtnut.com/l/_wQYlC1BhnP9x

52. Which sequence of steps describes the best synthesis of 2-methyl-3-

pentanone ?

A.(1) 1-Propanol + (CH3), CHMgBr , diethyl ether
(2) HsO™
(3) PCC, CH2Cl,

B. (1) 1-Propanol + Na2Cra07, H2 S04, H>0 heat
(2) SOCl;
(3) (CH3),CHCI, AlCl3

C. (1) 1- Propanol + PCC, CH2Cl,

(2) (CH3),CHL, diethyl ether


https://dl.doubtnut.com/l/_VGsmQU3Iknfe

(3) H;O0™
(4) NayCreO7, H3SO4, H5O heat
D. (1) 2 - Propanol + NayCry0-, H,SO4, HyO, Heat
(2) CH3CH;CH,Li, diethyl ether
(3) H;0™

(4) PCC, CH,Cl,

Answer:

o Watch Video Solution

53. Diols (I-IV) which react with CrOs in aqueous H,S0, and yield

products that readily under go dercarboxylation on heating, are :

AN
(1) HO (n Ho/\l/\{m

H
am Hﬂ/j/\ av) JO\/\
OH
H

A.land Il


https://dl.doubtnut.com/l/_VGsmQU3Iknfe
https://dl.doubtnut.com/l/_pEInLnDy5XT5

B.1land Il

C.lland IV

D.land IV

Answer:

° Watch Video Solution

54. Which of following compounds are not oxidized by HIO, ?

CH, —CH —OH CHy —C =0
(1) | (2) |
CH, — OH H—C=0
Cly —C =0 CH;—C=0
(3) | (4) |
CH, —C =0 CH, — CH — NH,
0
CH, — OCH, I
(5) 0 (6) | (7) C—OH
CH, —OH |
CH, —OH
A.5,6,7
B.4,5,6,7

C.6,7


https://dl.doubtnut.com/l/_pEInLnDy5XT5
https://dl.doubtnut.com/l/_qqzsn2LsFlTI

D.3,4,5,6,7

Answer:

° Watch Video Solution

55. Complete the following reaction
LI + (B) B4%; Final product (B) will be :
Prvictinnt BrC
oC (HMPT Sclvent)



https://dl.doubtnut.com/l/_qqzsn2LsFlTI
https://dl.doubtnut.com/l/_Zq8VQl1dbAN2

Answer:

° Watch Video Solution

56.
CH,OH
TsCl
> (A)
OH Pyridine (
0°C

Unknown (A) in the reaction (given in Q. 55) is :

UHy - 015

A.


https://dl.doubtnut.com/l/_Zq8VQl1dbAN2
https://dl.doubtnut.com/l/_lqS7RvG8CpfH

H,OH

I's
B.
CHy - CHy
H
C.
D.
Answer:

° View Text Solution

57. In the given table, identify the incorrect option. The digit in box

indicate the moles of that substance.


https://dl.doubtnut.com/l/_lqS7RvG8CpfH
https://dl.doubtnut.com/l/_OSU0FBe6dLFY

HIO HCO,H HCHO

Rea ¢ consumed formed formed

OH

(a) HO—C]I,—J}I—CH,—OH [2] [1] [2]
OH OH OH

(b) R-éH-J}i—(ll'H—CH,—DH
ocH,

I
(¢)  HO-CH, - CH- CH,0H

H B E
E B E
H B O

?H ?CH,
(d) HO-cH, - CH- CH,

o Watch Video Solution

58. Succinic acid > (A) = (B) s (C), Product (C) will be :

CH, - CO,H

A |
CH, — CH, — NH,
CH, — CO,H

B. |
CH, — NH,
CH, - CO, K™

C. |
CH, — NH,
CH, - CO,H

D. |

CH2 — CHQ — Br

Answer:



https://dl.doubtnut.com/l/_OSU0FBe6dLFY
https://dl.doubtnut.com/l/_Xy4XFneHaj3Y

| ° Watch Video Solution

59. Given are the structures of cyclic D-glucoside. Moles of HIO4

consumed with X and Y are.......... respectively:
RO —CH ] CHOR
— 1 ‘ — OH
HO — 0 —
—OH — 011
L oH — OH
CH, - OH CH, - OH
0 (¥
A 2,2
B.3,3
C.23
D. 3,2
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Xy4XFneHaj3Y
https://dl.doubtnut.com/l/_HIII2v9VKsNs

60. Moles of formic acid formed in X and Y respectively are:

A 1,2
B. 2,1
C.23

D. 3,2

Answer:

° Watch Video Solution

61. Moles of HCHO formed are:

A1)

B. 2,2,

C.1,2


https://dl.doubtnut.com/l/_HIII2v9VKsNs
https://dl.doubtnut.com/l/_ZfzwUhCE9f9d
https://dl.doubtnut.com/l/_1cLtDtdHKrXG

D. 2,1

Answer:

° Watch Video Solution

62.In which of the following group, each member gives positive iodoform

test?

A. A) methanol, ethanol, propanone

B. B) ethanol, isopropanal, methanal

C. C) ethanol, ethanal, isopropyl alcohol

D. D) propanal, propanol-2, propanone

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_1cLtDtdHKrXG
https://dl.doubtnut.com/l/_IqqCoZaru9bR

63. H,0® + No - A + (B)
(base)
]

|
CH3;C — O — CH, — CH3 + (A) — (C) + (D) alcohol
Product (C) ofthe reactions is:

@)

I
ANCHy;—C-0-H

018

K
B.B)CH;3 — C —-O—-H

10)

[l 18
CQCH; —-C -0 —

0}

I
D.D)CH; — C — 09 NG

Answer:

o Watch Video Solution

(Pl P, RbCl H,0 {Containg no nlirogen)
(Methanal)

()
|
Oy . -
. NOJ . + (A) - (B) + )

Product (B) of the reaction is :

64.


https://dl.doubtnut.com/l/_6vEDrFj8GUh4
https://dl.doubtnut.com/l/_B2OBMIvATpX3

KO
A A) .
0Oy
NO,
B.B)
-0 - CH,
C.0) NO;
@j.%|
D.D)
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_B2OBMIvATpX3

65. Two unknown compounds X and Y, both having molecular formula

C’4Hg0, give following results with four chemical tests.

Bromine Na metal Chromic acid Lucas reagent
Compound X | decolourises bubbles Orange to Green |  No reaction
Compound Y |  No reaction No reaction No reaction No reaction

Compound X and Y respectively are :

o]

C}!]—Qi,—g—cHl:/\\/\
A A) @

AN Non ;U
B. B) ©

.0 Q ; AN Non

)
Il
CH, - CH, - CH, - C- H;
N D) /\(

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_B2OBMIvATpX3
https://dl.doubtnut.com/l/_Hk5XP4lGYdPl

66. Complete the

LH CH D

Hy0

following

0
CO-bon

A.
i
B.
0
Oeo
C.
I8
D—d—[ ~ Gl
D.
Answer:

s N +CH,OH

reaction

o Watch Video Solution



https://dl.doubtnut.com/l/_rBvGRFGME3uC

67. Assign the structure ofmajor product (X) ofthe reaction given below.

? i, CH,OH SO01,

H - éﬂﬁ — > (X
| HCH{ g1, & &
OH

1
@—(fH ~C-DH

A A) OBt
?
@?ﬁ ome
B.B) c

@ La

C.Q)

I
@—C}i =CH-C-0-E

D.D)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_dbEztxy5zB9P

L.t L
@—CH-—C—OCH;--CH, + CHy - H—"m—l- Ay + W

acetic acid A.15h lconins chlorine)
ethyl-2-chlore (7 mele)
2-phenyl seetoe

68. 1 male)

Product (A) and (B) respectively in the above reaction are

@—in - @_ OM, CH, - E_ OCH,CH,
A A) 1

. ?
@—(l:n - i-om, Clly - C - OCH,
B.B) “

@—-'Tn _j, OFt, CHy - g-ou
C. c) &

?
@—cn, ~Cl, CHy-C-OH

D. D)

Answer:

° Watch Video Solution

69.
o
|
H,C = CH — C — OCH; + CH;CH,CH,0H —— (A) + CH;0
methylacrylate n-butyl alcohol TsOH, A bpt,145°C bpt65° (
bpt 81°C bpt 117°C

Product (A) of above reaction is :


https://dl.doubtnut.com/l/_nFaepeEejVcQ
https://dl.doubtnut.com/l/_GNuzFxons5m1

o

|
A.A)H,C =CH - C — OCH,CH,CH;

o

I
B.B) HyC = CH — C — O — CH(Me),

o

|
COH, C -~ CHC - OCH,
OCHj

(@)

|
D.D) H;C — (CH,), — C — O — CHj

Answer:

° Watch Video Solution

— OH

~0OH  3Ac.0 -.-
_OH {acetw anhydmce |

70.

In above reaction molecular formula of glycerol increases by :

A C,H,0,

B. C6H6O6


https://dl.doubtnut.com/l/_GNuzFxons5m1
https://dl.doubtnut.com/l/_KmVJt9l7vUtv

C. CsHgO,

D. Cs HgO5

Answer:

° Watch Video Solution

71. Give the best conditions for this transformation:

HT Ny —— HaC/\)\ncHg

A.A) CH3;0H, H " (cat. )heat
B.B) HyO, H ' (cat. )heat
C.C) Mg, ether CH3;0H

D.D) SOCl,, CH;OH

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_KmVJt9l7vUtv
https://dl.doubtnut.com/l/_NOczJE0DB3Ta

72. Give the major organic product ofthe following reaction.

(1} sodivim ecetylsbe
+ Product

(21 H,0H ™ 1o peutralize

A A)

OH

B.B)

HOQ

C.Q)


https://dl.doubtnut.com/l/_NOczJE0DB3Ta
https://dl.doubtnut.com/l/_pyaUHZM45sQF

D.D)

Answer:

° Watch Video Solution

(1) MeMght
6j___,m]—”—rtﬂjﬂ'"——hi"}-ﬂk-—bm]

Product (D) in above reaction is :

OH H

A A)


https://dl.doubtnut.com/l/_pyaUHZM45sQF
https://dl.doubtnut.com/l/_80JpXEvJ3WiF

]
B.B)
H
Qb
C.0)
D.D)
Answer:

° Watch Video Solution

74. Select the best method for the preparation ofthe following

compounds :


https://dl.doubtnut.com/l/_80JpXEvJ3WiF
https://dl.doubtnut.com/l/_2pSj9LN2HDxQ

(2 .,,.-.\I'JH
and
rn!jcl [_1 CH'|_

(MCPBA = Metachloro per benzoic acd )

A. A) reaction of cyclohexanone with CH3 L3

B.B) reaction of 1-methylcyclohexene with Hg(OAc), followed by
NaBHy

C. C) reaction of cyclohexene withBH3: NaOH / H,O2, following by
CH;3Br

D. D) reaction of cyclohexene with MCPBA, followed by C H3 M gBr

Answer:

o Watch Video Solution

75. Identify the reagents (1-4), required for the transformations shown

and arrange them in correct order.


https://dl.doubtnut.com/l/_2pSj9LN2HDxQ
https://dl.doubtnut.com/l/_89dPBz26oZUW

Ph Ph

Pl Ph m rh Ph
e
—_— —_——s
I
HOH,C CHLO8
S o [3)

O OH

Ph H H H E Ph Ph m Ph- Ph
H~ h e—— —
\-.0.-'/
[¥]

0

(1)LAH(LiAlHy) (2)0S0,

(3)NalIO, (4)NaBH,
AAl—>3—>4—2
B.B)2 >3 —>1—4
cCO2—-1—-3—4

D.D)1 -2 —~3— 14

Answer:

o Watch Video Solution

76. Which describes the best stereochemical aspects ofthe following

reaction ?


https://dl.doubtnut.com/l/_89dPBz26oZUW
https://dl.doubtnut.com/l/_bAVwxq30hJ7e

CH4

5. M=%, product
4

Ph
H

A.A) Inversion of configuration occurs at the carbon undergoing
substitution.

B.B) Retention of configuration occurs at the carbon undergoing
substitution.

C.C) Racemization (loss ofconfiguration) occurs at the carbon
undergoing substitution.

D. D) The carbon undergoing substitution is not stereogenic

Answer:

o Watch Video Solution

77. Which of following is an example ofPinacol-Diazotization ?


https://dl.doubtnut.com/l/_bAVwxq30hJ7e
https://dl.doubtnut.com/l/_G6FstF2dI75S

o

A A) Me2C' CMezﬁ—)Me—‘C CMes
OH B'I’
0
5.8) Me, O — O Mey Y% Me O — CMey
OH NH2 e

(@)

. |
C.CQ) Mey C — Cme2£—>Me—C’—C’M63
| |

OH OH
OF
,.
O - L,
R R R

Answer:

o Watch Video Solution

H,0* i .
78.(A) — B + C, (B) and (C) both give +ve iodoform test. Compound

(A) is

AACH; — CH =CH — O — CH, — CHj;
H

\
B.B)C’Hg‘c — O —-CH,; — CHj

CH,


https://dl.doubtnut.com/l/_G6FstF2dI75S
https://dl.doubtnut.com/l/_HpQHmkFp4heJ

C.OCH, ~ ¢~ 0~ CH, ~ CH,
CH>

D. D) both (b) and (c)

Answer:

° Watch Video Solution

79. A solution of Ph3CCO3 H in conc. H2S0O4 gives (X) when poured into

methanol X is :

0
I
A.PhsC —C — O — CHj;

o

I
B. PhoCH — C — O — CH,

C. PhsC — OCHj

D. PhyC — CHs

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_HpQHmkFp4heJ
https://dl.doubtnut.com/l/_wLOwqOwCSvVu

80. Complete the following reaction

OH

Tecd . LA -
Frridios +(A) (B)

Q0

A.
B.
C.
Cl
D. l
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_wLOwqOwCSvVu
https://dl.doubtnut.com/l/_q6cBKvEWtntR

81. In the given pair of alcohols, in which pair second alcohol is more

reactive than first towards hydrogen bromide?

CHy

T on H. OH
and

OH
and D—qn - CH,
|
OH
B.

CH; — |CH—CH2—CH3 and CHs — CH> — |C’H—CH2—O.

OH CH;,
D. CH3 — |C’H — CH2 - CH3 and (CH3)2|C’ - CH2 - CH3
OH OH

Answer:

o Watch Video Solution

82. Rank the transition states that occur during the following reaction

steps in order of increasing stability (least — most stable) :


https://dl.doubtnut.com/l/_q6cBKvEWtntR
https://dl.doubtnut.com/l/_I8cWgjiKtCZ0
https://dl.doubtnut.com/l/_Xop8DFKO6wbl

1HyC — OH, — CH}* + Hy0
2.(CH;),C — CHy — (CHz),C" + HyO
3.(CH;),CH — OH, — (CHy),CH"* + H,0
Al<2<3
B.2<3<1
Cl<3<2

D.2 <21 <3

Answer:

° Watch Video Solution

8. Complete the following

/\)\/U” _ Mn0y Ay, Produet (A) is :

HQ

reaction


https://dl.doubtnut.com/l/_Xop8DFKO6wbl
https://dl.doubtnut.com/l/_nFkx2i11460E

D. m/\/\j—c;— H

Answer:

° Watch Video Solution

84. In which ofthe following reactions hydrogen gas will not be evolved ?
Na
A.CH; - CHy, — OH —

B.CH; — CH, — OH ——

C.CH, — |CH—OH—AI+

CH;
CH;MgBr
D.CH; — C H—- OH ——
|
CH;

Answer:

| O A _L vl . o ~_ ..


https://dl.doubtnut.com/l/_nFkx2i11460E
https://dl.doubtnut.com/l/_S9o1lG3nfjiU

LT vYvallll vIiUCO o0IULivn )

ey Mg, ether

A) » () » Grignard reagent
l @) —M2"_, (3, 4 dimethyl
NayCra0 — (B) 3-hexanol)

H,50,

85.
When Grignard reagent reacts with (B) product (D) will obtained.

Reactant (A) ofthe above reaction is

OH

A.

A
A

OH

~K

Answer:



https://dl.doubtnut.com/l/_S9o1lG3nfjiU
https://dl.doubtnut.com/l/_mIJU1aJgtZw1

| Y Watch Video Solution

LiAlHy .
86. —— 2(B) , structure of (A) is :

(Chiral alchol only)
0]

I
Aam?H—C—OH—?H—Cm
Et Et
(@]

|
aam—?H—c—o—am—?H—cm

Et Et

A~
o~

C.

D.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_mIJU1aJgtZw1
https://dl.doubtnut.com/l/_WJtOoVLp6aAJ

0 O

NO., NO,
87.
Above conversion can be acheived by :
A. LiAlH,
B. NaBH,
C.Hy/Ni

D.CrOs

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_pyE4lLVAfz6j

OH o

| I
CH - COH

@/ ¢ EOH ——— (86%)

88. [Mandelic acid)

Identify product of above Fischer esterification reaction:

O—-FEt

\
APh— C H-COH

C.Ph — |CH — CO,Et

OH
)
|
D.Ph— CH—-C — Et
!
OH

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Wn4nuEk8PokM

0
|
CH,4 CHECHiJ:OH

?f GG LAy FhH L gy MO, ey
89.

Product (C) ofthe above reaction is :

0] OH
N \
A.CH3—C—C'H2—CH2—‘C — CH;
CH;
OH OH
\ |
B.CHs — ‘C — CHy — CHy — |C — CHjs
OH3 CH3
0] 0]

' '
CCHs-C—-CHy; —CHy, - C — CH>
(0] (0

'l I
D.CH; —C — CHy — C — CHjs

Answer:

o Watch Video Solution

90. What is the major product of the following reaction?

OH

\ cro
CH; — CH — CH, — CHy, — OH ——— Product

Pyridine coid


https://dl.doubtnut.com/l/_qhwpcnaI0Bv9
https://dl.doubtnut.com/l/_4zTLZiJo9MYh

OH (0]
Aam—éﬂ—cm—g—ﬂ
O O
acm—g—cm—g—ﬂ
O O
ccm—g—cm—g—OH
OH (0]

| I
D.CH; — CH— CH, — C — OH

Answer:

o Watch Video Solution

91. The major reason that phenol is a better Bronsted acid than

cyclohexanol is that:

A. it is a better proton donor.

B.the cyclohexyl group is an electron donating group byinduction,

which destabilizes the anion formed in the reaction by resonance.

C. phenol is able to stabilize the anion formed in the reaction.


https://dl.doubtnut.com/l/_4zTLZiJo9MYh
https://dl.doubtnut.com/l/_EhQhMJZrBC7i

D. the phenyl group is an electron withdrawing group by induction,

which stabilizes the anion formed in the reaction.

Answer:

° Watch Video Solution

92. Which of these reagents would accomplish the following reduction?

@) OH

I |
N=C-CH,~C~CH ~CH=CH, »N=C-CH ~ C -CH

A NaBH,
B. LiALH,

C.1mole H,, poisomed catalyst, low pressure

D. H,O™

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_EhQhMJZrBC7i
https://dl.doubtnut.com/l/_tezUrb9C7SYb

93. Complete the following
CH - CO,Et |- CH, - OH

i A _ "-'ﬂ:r_l_’ w}

Identify A and B

CH -
A = NaBH,, a-é

CH — CHO

A = NaBH, B—©

CH - CHO

COH

A = LiAH, B =

- COH
e

C

D.

Answer:

reaction

o Watch Video Solution



https://dl.doubtnut.com/l/_CrRmvYqCmDPL

C: P
94.Ph — CH,C H — CH; — 250 ()
|
OH

Product (A) in above reaction is :

A.Ph — CHy — |C’H — CHj (iversion)

OEt

B.Ph — CHs — C H — CHjs (retention)
o

C.Ph — CHy — C H — CHj3 (racemic)
o

D.Ph—CH = CH — CH3

Answer:

o Watch Video Solution

@)

| H*
95.Ph — C — O — H+ CH; — O™ — H <= (X) + H»0, Identify X :

o

||
A. X = Ph — C — O'® — CH; (Trans esterfication )

o

||
B.X=Ph—C —0"%— C H; (Esterification reaction )


https://dl.doubtnut.com/l/_FHErn7I9idB1
https://dl.doubtnut.com/l/_RjaCBJY0vTd6

(0]
||

CX=Ph-C-0"— C Hj; (Saponification)
0)

||
D.X = Ph — C — O — CHj3 (Hydrolysis)

Answer:

° Watch Video Solution

8]
I

0
I .
R—0H+II—O—C—@—NO—J g --::~—C—@rm:;n;t
96.

Fastest of recation will be when R is :

A.CH;-
B.CH; — CH,
C.CH; — ‘0 H—
CH;
CH;
l
D.CHjz — ‘C —
CHs
Answer:



https://dl.doubtnut.com/l/_RjaCBJY0vTd6
https://dl.doubtnut.com/l/_GBINWRi1bWKb

O Watch Video Solution J

97. Select the correct statement.

A. Solvolysis of (CH3),C = CH — CHy — Cl in ethanol is over 6000
times greater than alkyl chloride (25°C)

B.CHs — CH = CH — CHs — OH when reacts with HBr give a
mixture of I-bromo-2-butene and 3-bromo I-butene

C. When solution of 3-buten-2-ol in aqueous sulphuric acid is allowed
to stand for one week, itwas found to contain both 3-buten-2-ol and
2-buten-1-ol

D. All of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_GBINWRi1bWKb
https://dl.doubtnut.com/l/_yWGFr4PttO2Z

H
O

Cll, - Ol
98. Above
transformation can be carried out by :
A.H" /Azn(Hg), HCI
B. HIOy4, LiAlHy
C.HIO4, H + /A
D.H" /A, HiOy4
Answer:
° Watch Video Solution
99,
SOCl, O3/ Zn NaBH,
H,C = CH — (CH»)2 — C’H CH; —— (A) —— (B) —— (C
Pyridine (H0) C5HyCIO

OH

Compound (C) is :


https://dl.doubtnut.com/l/_0HyWK0Ks3buV
https://dl.doubtnut.com/l/_rL3rxVlyRXqr

OH
A.CH; — CH- CH, — CH — CH;
&
B. HOCH, — CH, — CHy — CH, — CH, — CH, — ClI
Cl
C.HO — CH, — CH, — CH, — oH - CH,
D.HO — CH, — CH, — CH — CH, — CHj

|
cl

Answer:

o Watch Video Solution

100. lodoform can be obtained on wanning NaOH and iodine with:

A.CH;CH,CH(OH)CH,
O
|
B. (CH;),CHCC, H;
C.CH; — ﬁ* — OCH,
O

D. (CH;),CHCH,OH


https://dl.doubtnut.com/l/_rL3rxVlyRXqr
https://dl.doubtnut.com/l/_njgwyfDEhX9r

Answer:

° Watch Video Solution

101. Which of these is a reducing agent ?

A. C’I"O3 /H+
B. KMnO4
C.LiAlH,

D. O3

Answer:

° Watch Video Solution

102. Complete the following

0 mil, ), . _ .
<___>=CHI'£ m;mi-l:D‘ ?m y {P}a Product (P)in the reaction is:

reaction


https://dl.doubtnut.com/l/_njgwyfDEhX9r
https://dl.doubtnut.com/l/_Ts0UwmvmpoPV
https://dl.doubtnut.com/l/_6NVk4EY3Up8n

<:>—i:‘.l 1,011
A
Chlq
OFa
B.
G ﬂ
C.
O
D.
Answer:

° Watch Video Solution

CH;
103.CH; — ‘C’ — CH; M) (P) , product (P) in the reaction is :
O|H cool
CHs

|
A.CHs — C = CH,


https://dl.doubtnut.com/l/_6NVk4EY3Up8n
https://dl.doubtnut.com/l/_TznYJ95DWlbD

CH;

|
B.CH; — C H— CH,

CH3 CH3
| |
C.CH3—|C—O—|C—CH3
CH; CH;

D. No reaction

Answer:

o Watch Video Solution

104. 1, 2, 3 - butanetriol undergoes oxidative cleavage of HIO4 During

this process

A.1 equivalent of HIO4 consumed & HCO;H&H3C — ﬁ’ — CO2 H

o

are formed
B.2 equivalents of HIOy4 consumed &

HCO;H, HCH = O&CHs — CH — O are formed


https://dl.doubtnut.com/l/_TznYJ95DWlbD
https://dl.doubtnut.com/l/_I8ScpXHf1oKn

C.3 equivalents of HIO, consumed & HCOyH(2eq.) & 1 eq. of
CH3CQOq H are formed
D. 2 equivalents of HlO4consumed & 2 eq . Of HCO,H & 1 eq. of

CH3;CH = O is formed

Answer:

o Watch Video Solution

105. Complete the following reaction
? 0O
CHy - & & ocn,
\b WAL, (A); Product (A) of the reaction is :
) H 0 [ )
Ol _on


https://dl.doubtnut.com/l/_I8ScpXHf1oKn
https://dl.doubtnut.com/l/_C4iGI4FFtTNt

CH, - OH
B.
ol cr,oH
C.
O
D.
Answer:

° Watch Video Solution

o o

| H® |
106R-C-0O0—-R' +R'OH<~ R-C—-0O—-R"’+R'OH

Above reaction is/an example of

A. esterification


https://dl.doubtnut.com/l/_C4iGI4FFtTNt
https://dl.doubtnut.com/l/_ABJ9AHiRIZwH

B. saponification

C. trans-esterification

D. hydrolysis

Answer:

o Watch Video Solution

107. What is the major organic product of the following sequence of

reactions ?

{CHJ }JCHEHEOH —H"‘—F —“‘—g Hln-m{’ » ":E:'1 ’

OH

|
A. (CH:;)ZCHCHCHQCH:;

B. (CH3)20H0H2CH20H
OH

|
C. (CH3)20H0H2 C HCHj;

D. (CH3)2CHCHQCHQCHQOH


https://dl.doubtnut.com/l/_ABJ9AHiRIZwH
https://dl.doubtnut.com/l/_irwsDEhR4UHm

Answer:

° Watch Video Solution

108. The structure of the product formed in the reaction given below is :

Of ol |

oae


https://dl.doubtnut.com/l/_irwsDEhR4UHm
https://dl.doubtnut.com/l/_19vUwze8NOI3

5

0O

Answer:

° Watch Video Solution

CHO
|

109. o — OH 2HZO§ Products obtained in the above reaction are:
|
CH, - OH
A.HCHO, HCO,H
B.HCHO,2HCO,H

C.CO,, 2HCO, H

D.CO,, HCHO, HCO,H

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_19vUwze8NOI3
https://dl.doubtnut.com/l/_XbbOr1kgeIni

CHO

|

(CH — OH), +4HIO4 —
|

CH, - OH

Aldo pentoae

110. Products obtained are:

A AHCO,H, HCHO

B.4CH,0, HCO,H

C.CO,, AHCHO

D.CO,3HCO,, H HCHO

Answer:

o Watch Video Solution

cHo CH,OH
{[llH -0H), —2% _, Product (if) {tl;H -OH), —4_, Product
CH, -OH CH, - OH

1.

Ratio of moles of formic acid obtained in reaction (i) and reaction (ii) is :


https://dl.doubtnut.com/l/_XbbOr1kgeIni
https://dl.doubtnut.com/l/_m4d9OBvPbMXG
https://dl.doubtnut.com/l/_C35PsppCFJyI

A3/4
B.4/5
C.1

D.5/4

Answer:

o Watch Video Solution

112. Which of the following compound gives HCHO, CO,,2HCO,H

when oxidised by periodic acid ?

CH, - Ol
{EH OH),
H, - OH


https://dl.doubtnut.com/l/_C35PsppCFJyI
https://dl.doubtnut.com/l/_L4gk2tjYva4D

t.'[f]I'D

ﬁ:{—fﬂng
CH, - OH

CH, - OH
C==0
(CH - OH),
CH, - OH
CHO
C=0

CH - OH

Answer:

o Watch Video Solution

113. Hydration of 3-phenylbut-l-ene in dil. H2.SO4 will give mainly:


https://dl.doubtnut.com/l/_L4gk2tjYva4D
https://dl.doubtnut.com/l/_MLdOm2kAOxVb

A. 3-Phenylbutan-l-ol

B. 3-Phenylbutan-2-o1

C. 2-Phenylbutan-2-o1

D. 2-Phenylbutan-|-ol

Answer:

o Watch Video Solution

114. Decarboxylation ofsodium salicylate with soda lime forms

A. Salicylic acid

B. Phenol

C.Benzene

D. None of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_MLdOm2kAOxVb
https://dl.doubtnut.com/l/_eFyGeDzJngu6

115. Complete the following reaction

~0OH 0O —2“_, What is the maximum value of (x) 7

Al

B.2

C.3

D.4

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_eFyGeDzJngu6
https://dl.doubtnut.com/l/_uxXvLCZesH0V

116. Complete the following

CH, - Ol

|
Cily - ol LitlH, Hytr®
— (A) > (B) ———> (€. Product Cis ;
H - CO,E H

CHjy
CEZHJI - (i‘.H - OH
A CHa
CE% - CH, - OH
B. 2
O
OH
(1.
T_mh
CH,4
C.
@;Hz - CH, - OH
D.
Answer:

reaction

o Watch Video Solution



https://dl.doubtnut.com/l/_Gf1g4kTp3jiM

CH,-0
(A} + CH, —OH -—Frmdise 77 U\ o
[ CH, - 07
CH,-OH
117. -

Reactant A of the above reaction is :

o

||
A.CH3; — C — CH;

B.COClI,
0
C.CH;3 — g’ - Cl
)

|
D.CH -3 —-C — OEt

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_zRZBfHXvLhRn

€O,CH, CO,CH, CH, - OH CHO CHO

18. Identify

the correct combination.

CHy — OH
AA) = |

CHy — SH
B.(B) =NaBH,

D.(D) = H;0°

Answer:

° Watch Video Solution

119. In the Libennann's nitroso reaction, sequential changes in the colour

ofphenol occurs as :

A.Brown orred — green — deep blue


https://dl.doubtnut.com/l/_4k0CUcvqft6X
https://dl.doubtnut.com/l/_PAacO5VKSTcj

B.Red — deep blue — green

C.Red — green — white

D. White — red — green

Answer:

° Watch Video Solution

120. Ethanol when reacts with PCly gives A, POCl3 and HCI. A reacts with

dry AgO, to form B (major product) and AgCl. A andB respectively are:

A C2H2Cl and C2H5002H5

B. C2H4 and 02H4OC2H5

C. CQH(; and 02H5002H5

D. CQH(; and 02H5N02

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_PAacO5VKSTcj
https://dl.doubtnut.com/l/_L6xvqKl2bvxD

121. Complete the

CH, =8¢l
Lt]

following

H,0" ' (C)

- -_— m »
CH = (CHy ) ~OH——8— (4) » (B)

A.CH,(CH,), — CO,H
B. CH3(CH,), — “CO,H

C.CH; — (CH,),CO,H
(0]

J
D.CH3—IC4'—O—H

Answer:

reaction

o Watch Video Solution

122. Choose the best synthesis of phenyl n-propyl ether.

H
L. Ma metal
I Gil,0H,CH e
P'D|lr_nprnlj|c sohvent

A.


https://dl.doubtnut.com/l/_L6xvqKl2bvxD
https://dl.doubtnut.com/l/_e6nnKUFLCD0S
https://dl.doubtnut.com/l/_OanGeYhVSN9W

e gk,
B.
Lty
1. Ma metal
T L GH,CH,-Br
C.
Hac/\/gmN lN;'I:;W_'
D.
Answer:

° Watch Video Solution

123. Complete the following

OH

G0 770, The product obtained is :

H

HO

reaction


https://dl.doubtnut.com/l/_OanGeYhVSN9W
https://dl.doubtnut.com/l/_vj9Mx3JlXkbE

D. None of these

Answer:

o Watch Video Solution

124. What is true for the equilibrium reaction ?

o @)

I - I
CH; — C — OH + CH; — OH <% CH;s — C — O — CH; + H,O


https://dl.doubtnut.com/l/_vj9Mx3JlXkbE
https://dl.doubtnut.com/l/_UiLyCy51mrc2

A. The use of equimolar quantities of CH3OH and CH3COOH will

give the greatestyield of the ester at equilibrium

B. Removal of water will increase the amount of ester at equilibrium

C. Addition of CH3COOCH; will cause the formation ofequal an

equal number of moles of water

D. Application of pressure increases the amount of ester at

equilibrium

Answer:

o Watch Video Solution

125. PCC (Pyridiniumchloro chromate) is a good reagentfor which of the

following transformations ?

Neile


https://dl.doubtnut.com/l/_UiLyCy51mrc2
https://dl.doubtnut.com/l/_eRXPxTdYIwHw

Answer:

° Watch Video Solution

126. How many primary alcohols (including stereoisomers) are possible

with formula C5H120 ?

A. Two

B. Three

C. Four

D. Five


https://dl.doubtnut.com/l/_eRXPxTdYIwHw
https://dl.doubtnut.com/l/_k5skn7x8lZ6y

Answer:

° Watch Video Solution

127. 1-Phenylethanol can be prepared by the reaction of benzaldehyde

with the product obtained in the reaction between

A.CHs3I and Mg

B.CyHs1 and Mg

C.CH3Br and AlCl;

D.CH30H and ZnCl,

Answer:

o Watch Video Solution

128. 0.092 g of a compound with the molecular formula C3HgO3 on

reaction with an excess of C H3Mgl gives 67.00 mL of methane at STP. The


https://dl.doubtnut.com/l/_k5skn7x8lZ6y
https://dl.doubtnut.com/l/_UbNgqKhZQ8Kh
https://dl.doubtnut.com/l/_LgyrjbnIOn63

number of active hydrogen atoms presentin a molecule of the compound

is :

A.one

B. two

C. three

D. four

Answer:

° Watch Video Solution

129. Migratory aptitude of the following in decreasing order is :

Q00

(a) (b) (€l (d)

Aa>c>b>d


https://dl.doubtnut.com/l/_LgyrjbnIOn63
https://dl.doubtnut.com/l/_dWekOD7aE9Qf

B.a>d>b>s

Ca>d>c>0b

Db>c>a>0b

Answer:

° Watch Video Solution

130. The major product formed in the reaction is :

H, 0"
_CHaR — 1 ?

0 + RCH ,0H

8]

|
A


https://dl.doubtnut.com/l/_dWekOD7aE9Qf
https://dl.doubtnut.com/l/_S11RIthmYcvY

+ RCH ,0H
Ho CHO

[

Answer:

o Watch Video Solution

131. Reaction of R-2-butanol with p-toluenesulphonyl chloride in pyridine
then LiBr gives:

A. R-2-butyl bromide

B. S-2-butyl tosylate

C. R-2-butyl tosylate

D. S-2-butyl bromide

Answer:

| O A _L vl . o e~ .. ]



https://dl.doubtnut.com/l/_S11RIthmYcvY
https://dl.doubtnut.com/l/_kofnabSAYrnK

LT vYvdallll vIiUCO o0IuUtivn )

132. Optically active 2-octanol rapidly loses its optical activity when

exposed to:

A. dilute acid

B. dilute base

C.light

D. humidity

Answer:

o Watch Video Solution

133.If ( £ ) 2-methyl butanoic acid were esterified by reaction with ( £ )
2-butanol, how many optically active compounds would be present in the

final equilibrium reaction mixture?

A.2


https://dl.doubtnut.com/l/_kofnabSAYrnK
https://dl.doubtnut.com/l/_TOhggaltmf9F
https://dl.doubtnut.com/l/_CywQtIliLe8c

B.3

C.4

D.6

Answer:

° Watch Video Solution

134. Complete the following
0
OH PHr. B, (v CH E. cl
Q/ s W LI > L,
ether (2) H, 0"
! N‘lulni v
0
1
0 -C - CH,

reaction



https://dl.doubtnut.com/l/_CywQtIliLe8c
https://dl.doubtnut.com/l/_Y0Gj4fMJaywi

=

Answer:

° Watch Video Solution

135. Complete
H OH

N S
C
@/ @ — 8% (A) ; Identify the product :

A. No reaction
B.

H

(ofe

|
D.Ph — C — Ph

the following

reaction


https://dl.doubtnut.com/l/_Y0Gj4fMJaywi
https://dl.doubtnut.com/l/_h7NdEOpk40li

Answer:

° Watch Video Solution

H,0°®
136. (EtO),CHCHO + CH3; Mgl —— (A)

Product obtained in the above reaction is :

(0] o
ACH,C —C —H
OH
B.CH; — CH - CHO
O

|
CCH; -C —-CH, - OH

D.CH; — |OH—CH2—OH

OH

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_h7NdEOpk40li
https://dl.doubtnut.com/l/_cVpB7Fpzd90Q

137. Reaction - (1)

KmnO. NalO
CH; — CH = CH — CHj, ﬁ (A) — (B)2mole

KM’I‘LO4/N0,ZO4
Reaction-(2): CH; — CH = CH — CH; ———  (C)2 mole

Product (B) and (C) respectively are :
A.CH,CHO,CH;COyH
B.CH;CO,H,CH;CHO
C.CH3CHO in both reaction

D. CH3CO5H in both reaction

Answer:

o Watch Video Solution

138. Complete the following reaction

OH

TeCl LiAH, _
» A ———» B product (B) is :
Pyridine, 250 Pyridine, 25°C



https://dl.doubtnut.com/l/_2JQ6213SBPpg
https://dl.doubtnut.com/l/_rYHont7cqi2b

3-388

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_rYHont7cqi2b

——» HO-(CH,), - Oll,
139. this

conversion can be achieved by
A.Os, Zn, then LiAlH,
B.O3 /H202, then LiAlHy
C.cold dil . KMnO4HIOg4,then LiAlH,

D. All of these

Answer:

o Watch Video Solution

140. Which of the following alcohol on treatment with HCI give 3-chloro-3-

methyl cyclohexene as a product?


https://dl.doubtnut.com/l/_StbY9MDlXHHd
https://dl.doubtnut.com/l/_kKqgNtB1AHhJ

CHy

CH,

CH
Lo

C.

D. All of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_kKqgNtB1AHhJ

141. Complete the following

{a) RCO,
by G Mighe (o) Fr'_l[,_c-_ » (A); Product of the reaction is :

OH
Chl,
nOH

CH,

a0 CH

Fi
" OH

reaction


https://dl.doubtnut.com/l/_X88Y13oiqLCW

I]'I._J

Answer:

° Watch Video Solution

142. Esterification (shown below) is a reaction converting a carboxylic acid
toits ester. Itinvolves only the carbonyl carbon. Esterification of (-) -lactic
acid with methanol yields (+)-methyl lactate. Assuming that there are no

side reactions, what is true about this reaction ?

OH OH

AA/{:JH o /ijl/”m 1,
1 Ik

(-} {40


https://dl.doubtnut.com/l/_X88Y13oiqLCW
https://dl.doubtnut.com/l/_y6fXtqKPdDQt

A. AnSp: process has occurred, inverting the absolute configuration

of the chiral center

B. AnSy: reaction at the chiral center has inverted the optical

rotation

C. A diastereomer has been produced, diastereomers have different

physical properties including optical rotation

D. Optical rotation is notdirectly related to absolute configuration, so

the change in sign of rotation is merely a coincidence

Answer:

o Watch Video Solution

143. Which of the following sets of reagents, used in the order shown,

would successfully accomplish the conversion shown ?


https://dl.doubtnut.com/l/_y6fXtqKPdDQt
https://dl.doubtnut.com/l/_SsZb6FAjjM4t

CH,

i |
Q—(:GI I . in ICH,CH,CH,

A CH3CHyCH>MgBr, H;O" , PC, CH,Cl

B. CH3CH20H2MQBT‘, H30+, H>504, heat PC, CH2Cl>
n _

C. (06H5)3P — CHCH2CH3, B> Hg, CH3;COsH

N _
D. (C6H5)3P — CHCH,CH3, H,O

Answer:

° Watch Video Solution

O

(O, i
0 H0° |, product © Product of the reaction is
{2h4
144.

0
_CHO


https://dl.doubtnut.com/l/_SsZb6FAjjM4t
https://dl.doubtnut.com/l/_0JGTwL717fwq

B.
N
{3
C.
O
D.
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0JGTwL717fwq

145. Which of the following compound on hydrolysis followed byheating

gives a product, which gives positive iodoform test?

[0)
l I
ACH;— C H-C —CH,— CH,
COEt
CO, Rt
G-CHy
B. O

C.CHj3 — ‘C H — COyEr

CO,Ft
o
D.
Answer:

o Watch Video Solution

146. Treatment of a 2° OH with CrO3 / H2SOy yields an/a :

A. aldehyde


https://dl.doubtnut.com/l/_dMZXCb4YnKVn
https://dl.doubtnut.com/l/_x07qNox1PwLX

B. carboxylic acid

C. ester

D. ketone

Answer:

° Watch Video Solution

147. Esterification of the acid P with the alcohols Q will give :

OH
Hy .CHy

CH

(5]-P (2)-Q

A. only one enantiomer
B. a mixture of diastereomers
C. a mixture of enantiomers

D. only one diastereomer


https://dl.doubtnut.com/l/_x07qNox1PwLX
https://dl.doubtnut.com/l/_ejM4fGsO2fbU

Answer:

° Watch Video Solution

T}; E1 _
H/s » product
F.IIDI{:
148.

Identify major product of the reaction, when the given compound is

hydrolysed and heated strongly:

0, H

HO,C


https://dl.doubtnut.com/l/_ejM4fGsO2fbU
https://dl.doubtnut.com/l/_HIFSU6ff3DTL

OH

OH

C.
CO,H
CO,H
D.
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_HIFSU6ff3DTL

149. Complete the following reaction

RO ﬁ
A
CHO

Bloal

find out the reactivity order with LiAlH ,:

AA>B>C>D

B.B>C>D>A

cCD>C>B>A

DDB>D>C>A

Answer:

° Watch Video Solution

150. Find out the reaction in which obtained product give positive

isocyanide test:

)


https://dl.doubtnut.com/l/_R0ycaejl2Aqe
https://dl.doubtnut.com/l/_DP1i5se5EQ5M

NH. -
@ T e,
C. ©
<:>/NFL -
O "” NaliH,
0
D.
Answer:

o Watch Video Solution

8

151.

0

In the above given compound how many functional group reduced by LAH

(Lithium aluminium hydride) and SBH (sodium borohydride) respectively?


https://dl.doubtnut.com/l/_DP1i5se5EQ5M
https://dl.doubtnut.com/l/_iP5VkuONHZ5c

A 44

B.4,3

C.34

D.4,2

Answer:

o Watch Video Solution

152. An unknown compound (A) (molarmass = 180) on acylation gives a
product (molar mass = 390) than find the number ofhydroxyl group

present in compound (A).

A5

B.6

D.1


https://dl.doubtnut.com/l/_iP5VkuONHZ5c
https://dl.doubtnut.com/l/_2a5Zw0xk07Al

Answer:

° Watch Video Solution

153. Which of the following compound is differentiated by NaHCOj as

well as by NaOH ?

CO,H OH
A
H CH,—OH
B.
£0,H CH,—OH
C.
OH 3
D.
Answer:

| o A _L vl . o ~_ ..


https://dl.doubtnut.com/l/_2a5Zw0xk07Al
https://dl.doubtnut.com/l/_rfDkXUza4PSI

L vvallll vIiUCO o0IULIVII )

154. Arrange the following compounds in order of their reactivity toward

CHy

Al < i1 < i
B.7 < 711 < 11
C.1i <1< It

D.41 < 99l < 1

Answer:

° Watch Video Solution

155. Choose the statement that is true about A, Band C in the following

separation scheme.


https://dl.doubtnut.com/l/_rfDkXUza4PSI
https://dl.doubtnut.com/l/_6urica248qM2
https://dl.doubtnut.com/l/_IEvkcT86Tlrs

Fiher __Evaporate

Nlphll alene layer
L | Ether gy porate
: layer
Aqueous _ Make basic with
layer 1 Tlh[-;nll
netrahyd o Aqueous Hvap ‘E.' C

isoquinoline layer

A. A = tetrahydroisoquinoline, B = naphthalene and C = inorganic ions
such as Na™ and CI~

B. A = naphthalene, B = tetrahydroisoquinoline and C = inorganic ions
such as Na™ and CI~

C.A = inorganicions such as Na™ and CI~ B = naphthalene and C
=tetrahydroisoquinoline

D. A = inorganicions such as Na" and Cl~ B = naphthalene and C =

tetrahydroisoquinoline

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_IEvkcT86Tlrs

156. Complete the following reaction

OH
CH,—OH _ =

— 2% s value of xis

HCHE

O-—CH,

A2
B.3
C.4

D.5

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_EiHC2q8sxcC1

157. Complete the following

oL
Ml f

(A) ”: B

RTRIE

®

CH, - CHO

=

o

©

[

e

D. (a) and (c) both

Answer:

reaction

° Watch Video Solution



https://dl.doubtnut.com/l/_3nZa7Ssxl02g

158. 1-Phenoxypropane is treated with excess of conc. Hl at 0° C and the

mixture ofproducts is treated with thionyl chloride. The products formed

are

A. n-propanol + Chlorobenzene

B. Phenol + n-propyl iodide

C. n-propyl chloride + Chlorobenzene

D. n-propyl chloride +Phenol

Answer:

o Watch Video Solution

159. Amongst the following compounds, the compound having the lowest

boiling point is

T ™SOH


https://dl.doubtnut.com/l/_3nZa7Ssxl02g
https://dl.doubtnut.com/l/_vW500kntdFEq
https://dl.doubtnut.com/l/_WcHNXKmoXEoh

Answer:

° Watch Video Solution

160. Which statement/s are true about products P & Q.

: —CH— o .
(A) CHy—CH = CH—CH,—0H ——— ()
{6 member T.5.)
: Ol = . T
(B) CHy—CH—CH = CH, — @
Ol (6 member 1.5.)

A.P & Q are position isomers

B. P show geometrical isomerism but Qnot


https://dl.doubtnut.com/l/_WcHNXKmoXEoh
https://dl.doubtnut.com/l/_UQGthwtBWxbN

P:CH3—‘CH—CH=CH2 Q = CH; — CH = CH — CH.
Cl

PECH3—CH:CH2—CZ Q:CH3—‘CH—CH:CH2
Ci

Answer:

° Watch Video Solution

0 H

(i) BB
—= Product

L) M

161.

Which of the following is/are possible end product of the above reaction?


https://dl.doubtnut.com/l/_UQGthwtBWxbN
https://dl.doubtnut.com/l/_jjByTGVZwLm1

H

A.
I
B.
H"'ﬂ‘“*m
C.

D. both (a) and (c)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_jjByTGVZwLm1

Level 2

1. Consider the pairs ofethers, numbered | throughV, shown below. To the
right of each pairis a description of reaction conditions to be applied to
each. One compound of the pair will react more rapidly than the other.
Which ether of the two will be more rapidly cleaved?

Write your answer in box.

Ether Pairs Cleavage Conditions

H4C
ch—(:l 1(CHy)3 & 0—CH,
5 Treated with HBr in
HyC CH,4CN, 40°C
H.’i(:@_ 6 x CaHy
—C(CHy)q & 0—CH
.| HiC - "| Treated with H.SO,
in GH,CN, 40°C
n W
. @hl EEE 5 Q_G_@ Treated with H,50,
in CH,CN, 40°C
CH,0 OH
Al i w6 4
Treated with 5% aqueous
v. (e} 0 -
OH OCH, H,$0,, 25°C
CH(CH3), & CH(CH3)
V. e Al ke T o #: Treared with 5% aqueous
H,50,, 25°C

° Watch Video Solution



https://dl.doubtnut.com/l/_ugqZcMNJCOOn

(a) GH4 —CH, - GH, -CH, -CH, -OH  (b) C€H, -CH, -c::l{z-ﬁ:bl-m,l

OH
CH,
{¢) GH, - CH, CH -CH; - CH, (d]CHJ—CH:—'(Ilj OH
((LH CH,
e, CH,
(€) GH, l‘.u CH, CH, - OH (f i, é:u CH -GH,
(I)II
i, CcH,
(g} HO -ClL, (llll Ci, - CH, (h) €H, fl'. CH, OH
&,

Abave compounds (a) to (h) are isomers of CH,;0.

2.
Based on the above isomer answer the following (A to F).

Which isomer is most reactive towards dehydration by conc. H2SO4 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ugqZcMNJCOOn
https://dl.doubtnut.com/l/_Vx22RKv4UEwV

(a) CH, -€H, - €H, - CH, -CH, -OH  (b) €H, -CH, - c:nl—?u ~CH,

OH
CH,
(¢) GH, - GH, CH -GH, - CH, (d) €H, -{:1{34]: oH
1(! Chi,
e, CH,
(e) CH, - e, G, OH (f) e, o cH e,
o
ait, CH,
(g) HO -CI1, €Il ¢, €H, (h) ©H, rll'. o, oH

Cti,

Above compounds (a) ta (h) are isomers of C,H,;0.

3.
Based on the above isomer answer the following (A to F).

Which isomer will undergo rearrangement when treated with

H,50,7?

conc.

o Watch Video Solution



https://dl.doubtnut.com/l/_ilqIWy0OrJoy

(a) GH, —€H, - CH, - CH, -CH, -OH  (b) €H, -CH, - ml—«?u ~QH,

OH
eH,
(c) CH, - GH, ~CH -CH, - CH, mu:u,-c:l{:-:]: oH
La CH,
ai, cH,
(e) CH, . CH, CH, - OH () e, o CH G,
ol
ci, CH,
{g) HO - €H, Gl CH, —CH, (h) GH, L e, OH
&,

4, Abave compounds (a) 1o (h) are isomers of C,H,,0.

Based on the above isomer answer the following (A to F).

Which isomers on dehydration with conc. H,SO, give alkene which is

capable to show geometrical isomerism ?

° Watch Video Solution



https://dl.doubtnut.com/l/_AXpnjkFbISd6

5.

{a) CH, - CH, - €H, - CH, - CH, - OH

{¢) CH, - CH, I:{l -CH, - CH,
i
Cil,

|
(e) CH, CH -CH, - CH, - OH

ci,

|
{g) HO -€l, €Il ©H, CH,

(b) €H,-CH, - CH,-
|
(d) €H, - CH, ~C - O

I
(f) €H,-CH CH -CH,

(h) CH,

Abave compounds (a) to (h) are isomers of C,H,;0.

CH,

CH,

CH,
|
ol
CH,
I
C-CH,
|

CH,

OH

{-CH,
"

Based on the above isomer answer the following (A to F).

Which isomer is least acidic ?

° Watch Video Solution



https://dl.doubtnut.com/l/_GeP6otzZZntQ

(a) GH, -CH, - CH,y -€H, -CH, -OH (b} CH, -CH, —a-!z—(in-l -CH,

OH
ch!
(¢) CH, - CH, il(l—cﬂ,-—ﬂi, (dld—l;—di;—(fl‘ -OH
i CH,
CH, CH,
{e) CH, .lrzn “€H, CH, - OH (f) cH, 1:11 CH -CH,
ol
cil, CH,
(g) HO - €, <|:|r CH, —CH, (h) €H, :llz cH, oH
CH,

6 Above compounds (a) to (h) are isomers of C,H,;0.

Based on the above isomer answer the following (A to F).

Which isomers on dehydration give most stable alkene?

° Watch Video Solution



https://dl.doubtnut.com/l/_fbIwedimfZfC

{a) CH, - €H, - CH, - CH, - CH, - OH
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Above compounds (a) ta (h) are isomers of C,H,;0.
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Based on the above isomer answer the following (A to F).

Which isomer on dehydration with conc. H3PO, undergo maximum

rearrangement?

° Watch Video Solution

R—CH4
{alkane lowest
oxidation no.)

8. Consider the above sequence and answer A 1o F

[

—— |[R—CH;— OH
(] alcohol

[O] = Oxidazion

(O]

—_—
—
(1]

o]

RCHO| /—=

aldehyde

[H] = Reduction

=
[H]

RCO,H
(acid highest
axidation no.)

Conversion (CHs — CH3 — CH3 — CH2 — OH) alkane

is ahieved by :

— alcohol


https://dl.doubtnut.com/l/_GqVPHGYxh3Tl
https://dl.doubtnut.com/l/_pLnctKc8dtk1

A.Bry / hv, alcKOH
B. Bry / hv, aq. KOH
C. BT’2 /CCl4, LZAZH4

D. B’I’z /CCl4, NGBH4

Answer: A-b ;

o Watch Video Solution

[0] L8]] [0]

R—CHy |==== |R—CH; — OH| = RCHO|==——==| RCO,H
{alkane lowesr| ! alcohol (H] aldehyde ] (eid highest
oxidation no.) oxidation ne,)

[0] = Oxidation [H] = Reduction

9, Consider the above sequence and answer A to F.

Conversion R — CHy — OH — R — CHO can be done by :

A. PCC | CH,Cl,

B. Cu, 300° C

C. 07‘03

D. All of these
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Answer: B::D

° Watch Video Solution

e

H
(alkane lowest (I

R—CH,— OH
alcohol

[O] = Oxidarion

]

_‘ﬁ
[E1]

[H] = Reduction

10. Consider the above sequence and answer Ao F

RCHO

aldehyde

0]

—_—
_—
[H]

RCO,H

(acid highest
axidation no. )|

Conversion R — CHO — R — CO>H can be done by

A. KMnOy

B. HyCrOy

C. KoCry07

D. All of these

Answer: C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_NJo0G9ExlK1r
https://dl.doubtnut.com/l/_0z4l2BmUdKzq

[

2]

R—CHy |=—=— |R—CH; —0OH| =———=| RCHO
{alkane lowest H1] aloohol ] aldebyde
oxidation no. )
(O] = Oxidarion [H] = Reduction
1 Consider the above sequence and answer A 1o F

0]

. Y
-_————
[H]

RCO,H
[acid highest

oxidation no. )

Coversion R — COyH — R — CHO can be done by::

A LiAlH,

B. NaBH,

C.DIBAL - H

D. All of these

Answer: C::D

o Watch Video Solution

R— CH4
{alkane lowest
oxidation no.)

[©]

[H]

R—CH, — OH

aloohol

[O] = Oxidarion

12 Consider the above sequence and answer A to F

(5] (€3]
—“‘..,T RCHO —‘q—-i—i--— RCGzH
M ladehyde] ™! | acid highest
axidation no.)
[H] = Reduction

Coversion R — CHO — R — CH; — OH can be done by :
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A LiAlH,

B. NaBH,

C.H, /Ni

D. All of these

Answer: D

o Watch Video Solution

(o] o] 0]
R— CHy | === |R—CH, — OH| === RCHO|<——=| RCOH

(alkane lowest alcohal tH aldehyde (acid highest
oxidation no.) oxidation no.)|
[O] = Oxidarion [H] = Reduction
13, Cunsider the above sequence and answer Ao F

Reduction R — CHy — OH — R — CHj3 can be done by:

A LiAlH,

B. NaBH, — AlCl;

C.H, + Ni

D. RedP + HI
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Answer: D

° Watch Video Solution

14. Which of the following is true for 3- methylbutanal ?

‘8 | This compound may be classified as an aldehyde,
| B | This compound may be classified as a ketone

An aldol reaction takes place on trearment with NaOH solution.

d. | There is no reaction with LiAIH, in ether solution,

|

€ -.':_:'I| An excess of CH, MgBr in ether reacts to give 4-methyl-2-pentanol.

| Wolff-Kishner reduction gives butane.

_‘ This compound is an isomer of 3 pentanone.

° Watch Video Solution

15. This problem is an introduction to the planning of multistep
syntheses

For use, you have six reactant compounds (A through F) , and eight
reagents (1 through 8), shown below

Following these lists, five multistep syntheses are outlined. For each of
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these, certain reactants or reagents must be identified by writing an
appropriate letter or number in designated answer boxes. Write a single
letter or number, indicating your choice ofthe best reactant or reagent, in

each answer box.

Reactant Compounds

>—O P & i O j\oi
®) © ® ® %

(A)
Reagents
(1) Jones' reagent [Na,Cr,0,in H,0 | (2) PCC [CrO, in pyTidine + HCI)
(3) Sodium hydride NaH (4) Sodium borohydride NaBH
(5] Thionyl chloride SOCL, (6) Phosphorus tribromide PBry
{7) Aluminium trichloride AICI, (8) Magnesium rurnings in ether

,=OH (1) Reagent
| O,IIH (2) reactant CoHy10; Heagent[ ] O/N:)’To
o]
2 "[E] el e, —@;’“‘“‘ O)K/

(1)
@) Reagent] | Sopeaest) J

s. O—m ] Cato0; St :
ﬁ) :'n’ +1 eatalytie acid chchCHa

(1) NaOH solution 3
ctant
4. Reagent[]] (2) Reagent("]
b@ CaHe0 (2) Resctant[]

nt i3 ““"‘“b
(1)) Reactant
[B]  GReagem]” Cati7BT LD OH

° View Text Solution
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16. Which of the following is true for 3- methyl-2-butanone?

||M?’, It may be prepared by CrO, oxidation of 2-methyl-2-buranol.
b. | Tts reaction with NaBH, gives a secondary alcohol.

’ It may be prepared by acidic Hg** catalyzed hydration of 3-methyl-1-butyne,

b | 1t forms a silver mirror on treatment with [Ag(NH; ),]1*.

i | This compound is an isomer of 4-penren-1-ol,

o Watch Video Solution

17. Which of these methods would serve to prepare 1-phenyl-2-propanol?

b.
& | Addition of phenyl Grignard reagent to acetone (2-propanone).
d.

Addition of benzyl Grignard reagent to acetaldehyde (ethanal).

Addition of phenyl lithium to propylene oxide (methyloxirane).

Acid-catalyzed hydration (addition of water to) of 2-phenyl-1-propene,

| Addition of methyl Grignard reagent to acetophenone (methyl phenyl ketone).

Addition of methyl Grignard reagent to phenylacetaldehyde.

o Watch Video Solution
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18. Match the Column (1) and (II) .

B T

Reaction Name of Reaction

|
|

(a) ()| Pinacol-Pinacolone rearrangement |

(b) | ~ama (q@) Semi-Finacol reaction

L

(c) i (x) Pinacolic-Diazotization

i ()Tl ]

(d) (28,8, 8 () Pinacol fashion reaction

o Watch Video Solution



https://dl.doubtnut.com/l/_iW1hw2PRQ612

19. Match the Column (1) and (II) .

v

20.
Ratio of moles of formaldehyde obtained in the reaction (1) and reaction

(2)?

| o Wiak~h \tAAaA CAlLiikiAan
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21. Di-tert-glycols rearrange in the presence of acid to give alpa-tertiary
ketones. The trivial name of the simplest glycol of this type is pinacol, and
this type of reaction therefore is named pinacol rearrangement (in this
specific case, the reaction is called a pinacol-pinacolone rearrangement).
The rearrangement involves 4 steps. one of the hydroxyl groups is
protonated in the first step. A molecule of water is eliminated in the
second step and a tertiary carbocation is formed. The carbocation
rearranges in the third step into a more stable carboxonium ion via a [1,2]
rearrangement. In the last step, the carboxonium ion is deprotonated

and the product ketone is obtained.

Me Me Mc Me Me\Me
HO ‘ ‘ OH H:ISCI! HO \_?Hz l HQJ I.hhllr g ’

Me Me Me Me Me Me

Pinacol

Pinacolone

What is R.D.S. of pinacol-pinacolone rearrangement?

Al step

B. Il step
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C. Il step

D. IV step

Answer: A::B

o Watch Video Solution

22. Di-tert-glycols rearrange in the presence of acid to give alpa-tertiary
ketones. The trivial name of the simplest glycol of this type is pinacol, and
this type of reaction therefore is named pinacol rearrangement (in this
specific case, the reaction is called a pinacol-pinacolone rearrangement).
The rearrangement involves 4 steps. one of the hydroxyl groups is
protonated in the first step. A molecule of water is eliminated in the
second step and a tertiary carbocation is formed. The carbocation
rearranges in the third step into a more stable carboxonium ion via a [1,2]
rearrangement. In the last step, the carboxonium ion is deprotonated

and the product ketone is obtained.


https://dl.doubtnut.com/l/_w7PKg0Ww1OyS
https://dl.doubtnut.com/l/_0qPr1ikWabHk

41,8055 e et
oy

Et Ph Gl Ph

H, 5":'|
HO—+—1—0OH + HO——F—OH——F*
Et  Ph CH4Fh
How many products obtained in above reaction?
Al
B.2

C.3

D.4

Answer: B

° Watch Video Solution
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23. Di-tert-glycols rearrange in the presence of acid to give alpa-tertiary
ketones. The trivial name of the simplest glycol of this type is pinacol, and
this type of reaction therefore is named pinacol rearrangement (in this
specific case, the reaction is called a pinacol-pinacolone rearrangement).
The rearrangement involves 4 steps. one of the hydroxyl groups is
protonated in the first step. A molecule of water is eliminated in the
second step and a tertiary carbocation is formed. The carbocation
rearranges in the third step into a more stable carboxonium ion via a [1,2]
rearrangement. In the last step, the carboxonium ion is deprotonated

and the product ketone is obtained.

Me Me Me Me Mc u e
H0—|—-’—on—”ﬁ"4+ HOHT;)Hz —> Qe s Me

Me Me Me Me Me Me Me
Pinacol Me

Pinacolone

OH
|
— CH,-Cl __ Ashoy | p
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()

Answer: C

° Watch Video Solution

24. Di-tert-glycols rearrange in the presence of acid to give alpa-tertiary
ketones. The trivial name of the simplest glycol of this type is pinacol, and
this type of reaction therefore is named pinacol rearrangement (in this
specific case, the reaction is called a pinacol-pinacolone rearrangement).
The rearrangement involves 4 steps. one of the hydroxyl groups is
protonated in the first step. A molecule of water is eliminated in the
second step and a tertiary carbocation is formed. The carbocation
rearranges in the third step into a more stable carboxonium ion via a [1,2]

rearrangement. In the last step, the carboxonium ion is deprotonated
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and the product ketone is obtained.

HOﬂon—"% m:r—(—‘—éuz — Hqﬁo —te ;—T—H i Me
me Me Me ® Me

Me Me M
Me
Me _u::,
oo
CH4 GH,
‘1
CHy CH, HCl (A)
OH NH,
O CH;
I
ACH; — C — |C — CH;
CH;
CH,GH,4
CHy Clly
Ol OH
B.
C.

D. None of these

Answer: A::D
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| o Watch Video Solution

Subjective Problems

CH=0
(A ) — - maies uf POC
CH==0

1. 0

Maximum number of moles of Ac2O consumed by reactant (A) is :

o Watch Video Solution
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